Calculus Ch. 5 Reteach Sheet

Name KE’Y

{Calculator) LT: I can estimate area using LRAM, MRAM, or RRAM

1. Consider the region enclosed between the graph of y = —x“ + 2x and the
x-axis for
0 < x < 2. Findthe LRAM4, MRAM, RRAM, using 4 subintervals.
LRAn = %%
MPRAN = 1,215
RZAM = ;/,{

{Calculator) LT: I can evaluate an integral using NINT.

2. Use NINT to evaluate Ise‘x dx = 980

(Calculator) LT: ! can find the average value of a function

3. Find the average value of ¥ = —3x2 — 1 on the interval[0, 1]. At what
point in the interval does the function assume its average pvalue?
'L 3/(: -/ de= -

(Calculator) LT: I can evaluate an integral using NINT.

4. Find the net area and total area of the region between y = x* — 4 and the
x-axis over[—2,3].




{Calculator) LT: I can approximate area under a curve using the Trap Rule and
Simpson’s Rule. |

5. A. Use Simpsons Rule and the Trap Rule with n=6 to approximate the value
of j'03 x3dx 0

B. Use concavity of the function to predict whether the/(approximation is an
overestimate or an underestimate.

C. Find the exact value using NINT to check your answers.
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(Calculator) LT: I can approximate area using the Trap Rule and Simpson’s Rule
and apply it to real life situations.

6. Use Simpson’s Rule and the Trap Rule to estimate the value of the integral

J-BB f(x)dx : zq) N q(&? }+ IS)
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{Non-Calculator) LT: I can evaluate an integral using graphs and area.

7. Use the graph of the integrand and areas to evaluate the integral.

a. J'_42(§+ 3)dx b. f_33\/9 —x2 dx
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(Non-calculator} LT: I can evaluate an integral using rules for integrals.

8. ‘Suppose that f and h are continuous functions and that

?J‘lmf(x)dx = —SII;H;E;) dx =3 J'.;O h(x)dx =6

Evaluate:
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a. [OlafC0-Shw] dx 9(3) — S(t) = 11730 =

b fof@dx > {Forde =(5)
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{non-calculator) Lt: [ can evaluate the integral using the FTC part 1.

. ay .
9. Find d—z if y = fg(z‘* — z2)3dz

dx X /

(non-calculator) Lt: [ can evaludte the integral using the FTC part 2.

11. Evaluate the integral using the FTC part 2.
3 2
a. f_1(9x + 5) dx

E}ﬁ fgzr - (36 +g(3)) ~ {; I /))

! gf 4’15) - 3__?““
To--3 = LOD

n
b. [«* csc?xdx
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